Red 10s

40 +10 = 30+10= 10+10 = 20+10 =
50+ 10= 60+ 10 = 70+10= 100+ 10 =
80+ 10 = 90+ 10 = 20+-10= 50+10=
70+ 5= 60+ 10 = 30+10= 10+ 10 =




Orange 2s and 5s

25 5 = 305 = 15+5 = 5+5=
40 + 5= 35+-5= 20+ 5= 10+ 5=
2+2= 8+2-= 4= 2 = 6+ 2=
12+2 = 18+ 2 = 20+ 2= 16+2 =
60 =+ 5= 55+ 5= 5-5= 10+ 5 =
14 +2 = 18 +2 = 22 2= 26 + 2=




Green — Sharing Method

9+3= 16 +4 = 217 = 16+8 =
12 + 3= 18+ 6 = 12+ 6= 24+ 6 =
28 +7 = 24+ 8 = 15+ 3 = 18+ 3=
9+3= 16 +4 = 21+7 = 16+8 =
12 + 3= 18+ 6 = 12+ 6 = 24+ 6 =
28 +7 = 248 = 15+ 3 = 18+ 3=




Purple Word Problems

Simon is :aizsi.n.tn‘tw:m,s. Each hox
hx}{::i.sé’pm. Smmhashake.d32,am.
Hcrwm,cmy hoxes can Simon full?

!ham?ﬂpmmyporketmmpwﬁw. How-
nwbymdﬂ*!ham?

fha.mhﬂpmldshmttbztmngtw
friends. medtwtiﬂﬂwgmchgeﬁ?

Can | share fﬂp, beiwv_:mnw anﬂnis Q.ELUH.UH?

Ke.mhada,suquf&ﬁuppies. Hepu.tﬁm

a]nfﬁu Entﬂ'b,ag.s of 7. mean,y bﬂgs did
Kevin need?

Steven, picked. 2k roses from his garden.
Steven shared the roses out amongst
himself and 7 friends. meuy

did Hw,y each get?

roses

L0 Pencils are shared hetween 5 children.
mexmg pe,rmi,ls does each duld.ge,t?

!Mm?hpﬂ?mp&ms. Hr::rwrrwng?
pence pieces do | have?

IMWSSFMWWMSWPM.
mewr.‘tjrSIaumpizm do | have?

IMWSSFMWWMSWPM.
HWW5PUWP[&C@S do | have?

PmCharrm;ngLs seecls. He has
63 seeds. Pmﬂharrrw}gpiunﬁsqm
mmmpat. me;ypotsmhﬂfdf,?

Cmdzmﬂawwtﬁrfmr in an

album. She has L5 photos. Euchpageqf&tﬂ

album hotds 6 photos. How many
Cmdzmﬂanzzdfuraﬁfw—f}}mtogmfﬁu?



